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Dependent Variable: TIME
Sum of Mean

Source DF Squares Square F Value Pr > F
Model 7 69.2500000 9.8928571 7.76 0.0012
Error 12 15.3000000 1.2750000
Corrected Total 19 '84.5500000
R-Square h C.v. Root MSE TIME Mean
0.819042 23.28163 1.12916 4.8500000
Source ) DF Anova SS Mean Square F Value Pr > F

SUBJECT 4 36.3000000 9.0750000 7.12 0.0035
DISTANT 3 32.9500000 10.9833333 8.61 0.0025
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Analysis of Variance Procedure

B.

Dependent Variable: TIME

Sum of Mean
Source DF Squares Square F Value Pr > F
Model 4 36.3000000 9.0750000 2.82 0.0628
Error 15 48.2500000 3.2166667
Corrected Total 19 84.5500000
R-Square C.v. Root MSE TIME Mean
0.429332 36.97952 1.79351 4.8500000
Source DF Anova SS Mean Square F Yalu; Pr > F
SUBJECT | 4 36.3000000 9.0750000 2.82, 0.0628
Cj, Analysis of Variance Procedure

Dependent Variable: TIME
Sum of Mean

Source DF Squares Square F Value Pr > F
Model 3 32.9500000 10.9833333 3.41 0.0434
Error 16 51.6000000 3.2250000
Corrected Total 19 84.5500000
R-Square C.v. " koot MSE TIME Mean
0.389710 37.02739 1.79583, 4.8500000
Source DF Anova SS Mean Square F Value Pr > F
DISTANT 3 32.9500000 10.9833333 3.41 0.0434
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The regression equation is

salary = 133 + 10.1 years

Predictor Coef Stdev t-ratio p
Constant 133.29 11.417 11.62 0.000
years 10.056 2.163 4.65 0.000
s = 26.09 R-sq = 68.4% R-sq(adj) = 65.2%
Analysis of Variance

SOURCE DF SS MS F
Regression 1 14712 14712 21.61
Error 10 6808 681

Total 11 21520

The regression equation is

salary = 32.6 + 8.15 years + 1.66 words

Predictor Coef Stdev t-ratio p
Constant 32.58 22.04 1.48 0.173
years 8.149 1.276 6.38 0.000
words 1.6561 0.3466 1.78 0.000
s = 14.63 R-sq = 91,1% R-sq(adj) = 89.1%
Analysis of Variance

SOURCE DF SS ¥S F
Regression 2 19594.9 9797.5 45.80
Error ] 1925.1 213.9

Total 11 21520.0

SOURCE DF SEQ SS

years 1 14712.5

words 1 4882.5

The regression equat

ion is

salary = 46.6 + 8.30 years + 1.35 words + 3.57 edu.

Predictor Coef
Constant 46.63
Years 8.298
words 1.3459
edu. 3.567
s = 15.02 R-sq

Analysis of Variance

SOURCE DF
Regression 3
Error 8
Total 11
SOURCE DF
years 1
words 1
edu. 1

Stdev
29.170
1.327
0.5542
4.884
= 91.6%
§S
19715.3
1804.7
21520.0
SEQ SS§
14712.5
4882.5
120.4

t-ratio p
1.57 0.155
6.25 0.000
2.43 0.041
0.73 0.486
R-sq(adj) = 88.5%
NS F
6571.8 29.13
225.86

0.000

P
0.000
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